
1) Convert the following mixed number 
43/10 into an improper fraction.

Answer: ____________

2) 68 ÷ 17

Answer: ____________

3) Convert the following mixed number 
75/10 into an improper fraction.

Answer: ____________

4) 65 x 12

Answer: ____________

5) Round 6.0480966 to the nearest whole 
number.

Answer: ____________

6) Round 30.41 to 1 significant figures.

Answer: ____________

7) (-14) + (-40)

Answer: ____________

8) Round 6.5069981 to 1 decimal places.

Answer: ____________

9) 8 + (-68)

Answer: ____________

10) Convert the following improper 
fraction 17/10 + 55/6 into a mixed 
number

Answer: ____________

11) 85 - 84

Answer: ____________

12) Round 25.991906 to 5 decimal places.

Answer: ____________

13) 64 - 52

Answer: ____________

14) 98 - 95

Answer: ____________

15) Round 27.809 to 1 decimal places.

Answer: ____________
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16) 28 x 100

Answer: ____________

17) (-180) ÷ 12

Answer: ____________

18) (-83) + 2

Answer: ____________

19) 91 - (-82)

Answer: ____________

20) Convert the following mixed number 
13/7 into an improper fraction.

Answer: ____________

21) 65 ÷ 13

Answer: ____________

22) 2 x 10

Answer: ____________

23) (-51) + (-85)

Answer: ____________

24) 1100 ÷ 100

Answer: ____________

25) (-37) - (-23)

Answer: ____________

26) 7 x 100

Answer: ____________

27) 6/4 x 6/3

Answer: ____________

28) Convert the following fraction into a 
mixed number: 11/10

Answer: ____________

29) Round 12.102 to 1 significant figures.

Answer: ____________

30) 15/7 x 37/10

Answer: ____________
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31) 18/11 - 7/7

Answer: ____________

32) 19/9 + 12/6

Answer: ____________

33) 9000 ÷ 1000

Answer: ____________

34) (3 x 102) x (1 x 108)

Answer: ____________

35) Convert the following mixed number 
73/6 into an improper fraction.

Answer: ____________

36) 4 ÷ 13 x 6 + 6

Answer: ____________

37) Round 21.38494844 to the nearest 
whole number.

Answer: ____________

38) 21 x 51

Answer: ____________

39) Round 2.9595 to 3 significant figures.

Answer: ____________

40) Decrease 290 by 4/145

Answer: ____________

Total: ___ / 40
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Answers:

1) 43/10 2) 4 3) 15/2 4) 780 5) 6 6) 30 7) -54

8) 6.5 9) -60 10) 78/15 11) 1 12) 25.99191 13) 12 14) 3

15) 27.8 16) 2800 17) -15 18) -81 19) 173 20) 10/7 21) 5

22) 20 23) -136 24) 11 25) -14 26) 700 27) 3 28) 11/10

29) 10 30) 612/35 31) 7/11 32) 41/9 33) 9 34) 30000000000 35) 15/2

36) 37) 21 38) 1071 39) 2.96 40) 282
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